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72| A etAR| 23t |mM (2ol atsh AL 6371 1 3 3 O|=Zl F 24,5,6 521108 4
73| AN etAE| B3t |mM [HEHS9stAte|E! 6372 1 3 3 o|#=%l = 27, 8,9 59-1108 1
74|0bt S AT (M |dE3S 07| 6374 1 3 3 A= T +7,8,9 S=-4102 16
75| 2 ul 3t wM | ZH7H S ksl 2 S Ao o] sh 6375 1 3 3 B3| F 24,56 8h&-601 25




76| 228 nM | gojz[st7| X 6379 2 2 2 2 T 7,8 592103 6
771224 nM | HEF0 |3 6381 1 2 2 2H = 28,9 522103 11
78| 228 nM |8 6381 2 2 2 EE|OA T 24,5 S9-2107 8
79224 niM | HEH0Z = 6381 3 2 2 EEOA 5 =6, 7 S2-2107 9
80|22 oM (FEERET|EN 6383 1 2 2 ZE|OjA ES B =0t 2103 13
81|22 oM | FGEET| X 6383 2 2 2 Zag] = 3H, 2 52-2108 16
82|22 uMd [E=0{2|3H 6385 1 3 3 Aokt = +7,8,9 59-2108 28
83| & nM |7 ol dst=HH 6390 1 3 3 EHES = 27,89 Q17H-309 13
84|22 nM | HEHO 6397 1 2 2 Z0] < T =6, 7 59-2107 16
85|22 nM A2 6397 2 2 2 43| = 56,7 S2%4-2104 4
86| X Gt SAtR] (M | X2 RHIA|DIALD| 6399 1 3 3 SA T 24,5,6 =9-1108 1
87|217to[slet20] [mM | LA SIS RS aE LI A 6401 1 3 3 TEfS F 1,23 523101 5
88| 21Zto[sH2tZ0] [mM |LHSH=ERSaE Lubd A 6401 2 3 3 THEfS T +7,8,9 =2-3101 34
89| 3 & mA [ALS| A Z K| Q| f B A 6406 1 3 3 S f=F] F 27,89 oj24-101 20
90| ANtAE| 23 (M | S 2HAH2Hol0|s) 6408 1 3 3 H = = 3M,2, 3 59-5114 56
91| & oM [HE7| Y SC|RFISC 6416 1 3 3 S F 1,2, 3 523102 43
92|z ot X mM |Bto|statA 6420 1 3 3 SNk T 1,2, 3 $t9]-1101 1
93| & mia i el il ES R ESE 6421 1 3 3 pEs F 3H,2, 3 52-1103 17|3~48HE BN IS
94| AN A 23t [mM | Sot ot Hoto|o| sl 7276 1 3 3 2aXN F 24,5,6 2325101 49
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8| % & ¢l nM |HA7|YSC|RtIStTt 6416 2 3 3 S Of 410, 11,12 |59-2112 41
g|elZtolsietZ0o]| |mM |FBEO|SHSt=T T YA 7280 2 3 3 d=+=4 Of 343, 14, 15 |&24-2112 30
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